I%4: AE/EEMEEEBERE A=

NE SV EETAERS S/TIHNA

ERER
IFERS | T B | B bill # bill b5} % B BHE

(LEVELT) (LEVEL2) (LEVEL3) (LEVEL4) (LEVELS) B 2 e |

[ ith 8 EMEET |AERBREI  [#ERKRE Ny EHA FRE# m2 | 1000 [112997.0| 113,000

Z A m2 [ 1000 [ 59070.0| 59,000

AHBRE m2 | 1000 | 15492.0| 15,000

ERT mNER =l 1 6.0 6

B =l 1 2.0 2

s T HEERFER a8 1 28.0 28

HENERFLS t 1 52.7 53

AEBEL  [EREE () HEHAIAH=1. OmPa 5 m2 100 4613.0 4, 600

BEABE (Fig) HEHNIAH=2. OmPa 5 m2 10 29.0 30

BEABE (E¥) A FINAH=0. 3mpy ot 73 1 109.0 110

BEAZE (E¥) A FINAH=0. 6mpy o1 73 1 219.0 220

BEABE (E¥) A FINAH=0. Ompy 41 73 1 198.0 200

HIEEE W52 H=0. 5mpa sk m 10 128.0 130

HIEEE HHNAH=1. Onpa gk m 10 421.0 420

HIEEE W52 H=2. Onpa g m 10 375.0 380
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B e * : 100 1
S A0 Soni * : 40 4
S AR O=300miL * : 13.0 13
S AR O-60oniL * : 9.0 0
S AR O-000mL * : 2.0 20
S AR O=30omiL * : 20 5
BABNE SHERC=00cm E120om | A 1 15.0 15
A CHiBEE m2 10 163.0 160
WP IE RIS 8
BBEET  |F X 10 600.0 600
Mo bE x| 1 52.0 52
EKI K =] 1 60.0 60




